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T &



No. of Questions : 50
uedl @t @ : s0

Time : 2 Hours Full Marks : 200
g 2 gue gufes : 200
Note: (1) This Question Booklet contains 40 Multiple Choice Questions

(2)

(3)

followed by 10 Short Answer Questions.

TH 099 gRAHT 40 RIS T 10 91y S ge ¥

Attempt as many MCQs as you can. Each MCQ carries 3 (Three)
marks. 1 (One) mark will be deducted for each incorrect answer.
Zero mark will be awarded for each unattempted question. If
more than one alternative answers of MCQs seem to be
approximate to the correct answer, choose the closest one.

S TEIfre 9ol 1 &7 H B Ta B | TAF T
997 3 (W) oif 1 B | ol e 9w @ Riw 1 (0@) i
BT A | g&h FIRART U &l OTeis LW AN g
RIS ueSl & e Jwiad S ad Sax @ Pree gdih
gl, W Mepeas a8 w4

Answer only 5 Short Answer Questions. Each question carries
16 (Sixteen) marks and should be answered in 150-200 words.
Blank 5 (Five) pages attached with this booklet shall only be
used for the purpose. Answer each question on separate page,
after writing Question No.

g 5 (de) TgSaa T8 & Ia ¥ | ude ueT 16 (des)
Sl @1 8 qUT IFH I 150-200 Y] & S BT AR
o Q39 gRasm & @f gu ar 5 (9f9) gt o & sude
STELFH 2 | T&H 99 FT ST T ¢ U F, T @1 Rrany
q& BT | |

3 P.T.O.
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01l. Who has been accepted as the eye of the Vedpurush ?

(1) Shiksha vedang - (2) Jyotish vedang
(3) Vyakaran vedang (4) Nirukt vedang
AuyEy = A7 R W B Tar ® 7

(1) fawew =i (2) <G g
(3) SATHTOT AT (4) e agi

02. How many Pramanas are there is Sankhya Philosophy ?

wieT wet # e gem ¥ 7 |
(1) 03 (2) 04 (3) 05 (4) 06

03. Who said ‘G=nieel €uidm@a =y ?

(1) Magh (2) Dandi
(3) Kalidas (4) Bhas
‘Ganten fiafs@a Y Pras s R ?
(1) #™ : (2) &g
(3) apifereTy (4) =E

04. What is called as the heart of the Ramcharitmanas ?
(1) Balkand (2) Uttarkand
(3) Sundarkand (4) Ayodhyakand
AR & ‘Be’ Y wsq ¥ ?
(1) SIhIesS | (2) SRS
(3) YIS ‘ (4) SIS
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05. Who was the first professor and Head of Hindi Department B.H.U. ?

06.

07.

08.

(1) Lala Bhagwan Din - (2) Ram Chandra Shukla
(3) Keshav Prasad Mishra (4) Shyam Sundar Das
Rl frwm, wr.fE.R.A. @ gem o ofR otemEr @ em ?
(1) &ET e« 2) THE= JEFA

(3) ®E vaTs HH (4) M =Y a9

Name the Hindi critic who wrote 'Itihas Aur Aalochana' ?

(1) Dr. Ram Bilas Sharma (2) Dr. Vishwa Nath Tripathi
(3) Prof. Namwar Singh (4) Vijay Deo Narayan Shahi
sferere oY omeieFT Rre el oot W HRY B 7

(1) 2t w foerg gmt (2) €. faeg=mar R

(3) WM. AHER e (4) e g AT ATt
Who wrote 'Sanskriti Ke Char Adhyay' ?

(1) Haribansh Rai 'Bachhan’ (2) Narendra Sharma

(3) Dinkar (4) Narendra Kohli

‘TEpiy B AN A & AGH § -

(1) sRewr w9 ‘F=r’ (2) TLE i

(3) Rt (4) &= Hisel

ISBN consists of :

(1) 8 digits (2) 6 digits

(3) 15 digits (4) 13 digits

g we & § fhan s B € 7

(1) 08 3% (2) 06 ai®

(3) 15 i (4) 13 3%

] , P.T.O.



RET/14/TEST-B ' 905/ $tatis‘tics

09.

10.

11.

Who was the founder of ‘Swaraj Party' ?
(1) C.R.Das (2) Subhash Chandra Bose

(3) Pandit Jawahar Lal Nehru (4) Moti Lal Nehru

AN UIE] HT HEAqgS B oo ?
(1) E9.aTR. g9 (2) gIE =T N9
(3) INET SarET W ABw 0 (4) AN AT Yvm

Who is associated with the discovery of Indus Valley civilization ?
(1) Sir Alexander Cunningham {2) Sir Mortiner Wheelair

(3) Sir Vincet Smith (4) D.D. Koushambi

ﬁ#gsmﬂﬂmar%mﬁmwmqga%?
(1) |Y ANFTST HHgy (2) B AT Aee
3) . a¥ Qe fRwe 4) .2y, P

Let % 8 vovns X, be a random sample from a poisson distribution

with parameter . What is the maximum likelihood estimat, of e"H ?
=y P . Llog xi
(1) &% @ cX¥ @ x4 £
'n
| S qu@%ﬁnﬁmimap%mwmﬁ
ferar o & ek Bt dewm dwRE ovees aar ¥ 7 '

n nl 1
[1) e-SE : (2) e';xi (3) e Z]og i (4) ; og XII
n
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12. Let L denote the likely hood function and T be an unbiased estimater

13.

of g (9). Then for K (g) >0, T attains the minimum variance bound if :-

(1) L=K(8) (T - g (o)) (2) LogL=K (8)(T-g(e)

d | d?
() ¢ LogL=K(e)(T-g(s)) (4) gg LogL =K (e)(T-g ()

e L AT wEA T g (o) & SR ofehets TR aem K (g)

>0 % o T gAeH gaeer € g wem Al

(1) L=K(e) (T-g (o)) (2) LogL =K (8) (T - g (0))
| p

p .
(B) qg LogL=K(6)(T-g(0)) (4 442 LogL=K(0)(T-g(p)
Let x,, x,, ..., X_ be a random sample from the following pdf -

fx, 0)= o (x0);x> 9
Then, consider the following statements
statement 1 : (x-1) is an unbiased estimate of g§.

statement 2 : Xm is a consistent estimator of g.
which of the above statement is/are correct ?

(1) Only statement 1 is correct
(2) Only statement 2 is correct
(3) Both statements 1 and 2 are correct

(4) Both statements 1 and 2 are not correct

7 P.T.O.
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14.

AL x,, X, oy X, T UGB Ufteel RA M0 AT e s
f(x, 0) = ¢ (x0); x> ¢ & Rvan mon 8, o= RA @ & & & D &
T wqE B ? |

T 1: (%-1) T STARME STHTE ¢ B D

FET 2: %, W WEHOTES SRR g W

(1) @ae HoT 1@ (2) @aw FUT 26 T

@) a9 w1 29H B 4 a’ﬁfaﬁmlaﬁ'{zﬂﬁaﬁi%i

Hx >1 is the critical region for testing H,: ¢ =2 againstH, : g = 1, on
the basis of a single observation from the population f (x,0)=¢9 e-@ X;

x>0, g > 0. The value of type - I error is

1 | -1
(1) = (2) %-)'

@ &) (@) e?

aﬁxglwm@aqﬁmmﬂoswz%%wm:gal%
g 8, a9 @afe f(x, 0 )= 9ePX;x>0,0>0d uwp Foor 3
SR 9T W9 U @t g B

1 (e-1)
1) = 2
@) (“’;) @) e
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15. The 95% asymptotic confidence interval for g of the Poisson

16.

distribution is :

(1) m:z.ss\[E

n

(3) X+1.96

&I

n
X

(2) iil.%ﬁ
n

(4) None of these

e dest X ¢ H 95% orrestt frsarer s

(1) Eiz.ss\ﬁi
n

(3) X+1.96,|—

X

_ X
(2) xil.%‘j;

(4) = 4 *ig TE

In the linear death process, the number of persons at time t given

that initialy there are k, individuals, will follow a -

(1) Binomial Distribution
(2) Geometric Distribution

(3) Hypergeometric Distribution

(4) Negative binomial Distribution

PchOo
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17.

18'!

Uh SR 3 g8 H, t 999 9T ARREl $ g G & s S|t
Ry # k, &R g, anm -
(1) f&ug s (2) el dew

(3) BIEYT SHIFHAY sfeq (4) TS TEus g

In a Galton - Watson branching process, if number of individuals
produced by an individual has mean 0.5, then probability of ultimate

extinction is -
(1) 0.5 (2) 1.0 (3) 0.25 (4) zero

s e - dtegd SR o ¥ us A g shaa it s
g 0.5 8, aF Iedie ugafeR @ Wifdear eRf -

(1) 0.5 (2) 1.0 (3) 0.25 (4) "

Let X\ nesennss X,, be a random sample from p(j ) and T=in is the

i=l

complete sufficient statistic. Then the UMVUE of P | x, = 0] is :
n 1y
e T
(1) == (2) [ n]

-1 T -1
@ T @ (1-1) +(4]

10
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19‘

gfe - - Xn P(3) q us grgfess THAT 81, o} Tziz;:xi g

gafer STiwsT &, & P(x, =0] @ UMVUE®)

(1) —= | (2) "
n-1 Ly 1™
S s 1____ e
(3) ——(T-1) (4) [ nJ +[nJ
Let x,, X, ........ » X, be a random sample from cauchy (r,0). Then the

CRLB for the variance by the unbiased estimate is -

. 292
(1) It does not exist (2) T
9’ _
(3) P (4) exists only for g > O

e %, %, e , %, BN (n.0) A Rram ™ us aglRes Ty &, &
freqer eTgm=t & freer & fg CRLB & -

'(4) PAT 9 >0 for Iuereyr @

11 P.T.O.
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20. Let x, X, ..... x_ ,be a random sample from the distribution with pdf

21.

f(x,8) =2 (6 - x)/ 92, for 0 <x < g and 0 otherwise. Then the sufficient
statistic for g is:

(1) Y

jml

(2) %,
(3) [xy + x,)/2
(4) %y -evnee Xl the entire set of observations

o x,, %, ..... x, AT, frees midsar i@ 5T f(x,0) =2 (0 - %)/
0% 0 <x < o R 7 0 oFgen B, & R man o agles A B,
¢ B RIQ qahd AFHST B B

(1) ixi

il
(2) X

(3] [x“] ¥ xw];’Q

(4) [xy) ceeeeeee ot

Consider a single observation x, from N (g, 1) and let the prior for g
be N (0, 1). Bayes estimator assuming a squared error loss function

and absolute error loss function is -
X _
(1) under SEL it is 5' and under AEL it does not exist

X
(2) under AEL it is 3‘* and under SEL it does not exist

(3) itis % under both AEL and SEL

3 .
@) it is —2’5‘~ SinHeE Bath AEL-and SEL

12
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22.

N[e.llﬁﬁwmxlwﬁﬂﬂﬁlqﬁe & e gafue
N{o,né’t,ﬁra?ﬁmzsgf%aﬁma(sm)eﬁ?gﬂgﬁaﬁw
(AEL) % [T S97 ofapesr & -

(1) SEL& fe@ ' a AEL® foq srguaer B

X
2
(2) AEL% fag -’-{2—' d SEL % Qg ergucrey ¥
() AELT SELAT & frw 2L #)
(4) AELT SEL SN % R —3-§~'~ 2
Which statement is correct with respect to subjective probability ?

(1) It can be evaluated using classical definition of probability.

(2) It can evaluated using frequentist approach.
(3) It can be evaluated using observed data values.

{4) It can be evaluated using personal judgement and introspection.

AfFTIE AifdeRar & daef # Frwfeafaa & @ Hi9-ar a6 2 ?
(1) F& mifERaT &t grei=as afar & g9 @ geitea B s
el 8 | |
(2) 98 STgERHn giteehr (RfY) & sEv § geitha R o awar B
(3) a® Uit ofisher oy & U § YoAitha fHar o W B
(4) @& AfRr Fofa qur sner Frderr & oder @ geaifea fear

ST Hehar B | .

13 P.T.O.
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23..

24.

Consider the distribution §* (1 - g)* obtained from Binomial sampling

scheme what will be the Jeffrey's prior ?
(1) Beta (0.5, 0.5) (2) Beta (1, 1)

(3) Beta (1, 0.5) (4) Beta (1, 1.5)

faeda agar gotelt B ofchia RERer or (1 - o) B T AwH @
qgiaE BN -

(1) &reT (0.5, 0.5) (2) drEr(i, 1)
(3) #rer (1, 0.5) (@) #Er(l, 1.5)
Suppose that p {g/x, ........ x_} is the posterior distribution based on

and x__ are two

n+l n+2

f(x/ 8) and an appropriately chosen prior g (8) Let x

additional observations added at a later stage. What is the posterior

(1) Can not be determined since prior distribution can not be obtained

on the basis of the given information.

(2) Same as p (0/X%, ........ X ) since xi & are i.i.d.
n+2

(3) Proportional to __nﬂf(xi)p(e!x, ....... X,)

(4) Proportional to p (8 /X, ........ X ). g (6); where g (g} is the

appropriately chosen prior

14
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AT p (0/%, .. oo x ), fix/ @) UX AT geafaaRer oW g (g)
AT =afg gatus 81 afk x| g x , 9= # g g &) srfafeers
qderor €, Fﬁp(e/xl ......... x+2)E-BITIT |

n

(1) iR 7€ fhar s g &4t Ru 1@ gammedt & & g
gd faeer «El ure R S owen @

(2) 9% a4l x @ Td §9E a8 ST p (6/%, e x) @&
HHE BRI

(3) ‘_Et:f(xi)p(ﬂfx,.......xn) & wHTuIREs e

(4) P(8/%, ononx,). g (6) F WHIIUIRTER I STET g (p) ST
g~ gais 2

25. Which one of the following is a direct measure of migration ?

(1) Balancing Equation method

(2) Place of Birth method
{3) Survival Ratio method
(4) National population growth method

Fr=ifeg § @ H9-91 9999 @ Y9 519 8 ?
(1) e HIBT gaid (2) ST T WM gEid
(3) IEEHfaar sHuR gk (4) USTE SHEEAm g ISl

26. Among the following categories providing information on the
population which one is not provided by population census ?

(1) Demographic characteristics
(2) Social - Cultural characteristics
(3) Economic characteristics

(4) Characteristics related to health of the population

15 P.T.O.
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27.

28.

wEeEa dedt gaen 39 & fo Frefafas afeat & @ sa-d aoi
SHEEAT STFRETOET ST T8 gas s g 7

(1) SrHifepent faLrwar
(2) wHIRTE - Qg faerwer
(3) onfdes frgrsar

(4) TVEE & el | 9eEiEg g

Some salient features of a census are

(a) Selectivity (b) Simultaneity

(c) Universality (d) Periodicity

Find out the correct combination of answer according to the code :
(1) a, b and c are correct (2) b, cand d are correct

(3) a, ¢ and d are correct {4) a, band d are correct

ST #l g g fadwad 8

() TAETT (@) aEEeTERdl

(M EEERaT (®&) SATER

HE H IFER HWE GheH gAg

(1) &, @ T 7T & & 2 @ 7T gaH ¥
(3) @, T T g G ¥ 4) & @ oA g ah ¥

Myer's blended population index is used to correct :

(1) digit preference in age data
(2) sex - ratio

(3) growth rate

(4) migration rate

16
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39,

30.

"R & A SEen gawien &1 STEnT et e ®
(1) og =l nieng! d siep I i T8 HE B g
(2) T U € H & fag

(3) gha X wd A B Rdm

“) 9g9q9 ¢ 9El 1 $

If death rate of a stationary population is 10 per thousand, then its

life expectancy would be -

(1) 10 years (2) 50 years
(3) 75 years (4) 100 years

| Afe TrER SHEET #i 9 & Ui &K 10 B, & 39 sies genan

et -

(1) 1039 (2) 50 a4

(3) 75 a9 - (4) 100 ¥

Which one of the following is not true in case of stable population
theory ?

(1) NRR=e'T ‘ (2) b=d=1/¢ (if r = 0)

(3) C(a, t)=C(a) {4) NRR = GRR

frr=ifera & @ P9-a1 @l sHaE fasia & Ama # 98 T8t &

(1) T, 3. AR, =& T (2) b=d=1/¢ @R r=0)
(3) Cla, t) = C (a) (4) . AR, 3R, =f. 3. AR,

17 P.T.O.
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31. If joint probability density function of x and y is

= x-1)24(y-22
f(X,Y) == G ’
T

what is the distribution of x -y ?
(1) Normal N (1, 2) (2) Normal N (1, 1)
{3) Normal N (0, 2) (4) Normal N (-1, 2)
Y x T y 1 G UTidenan gcd et

Y222 3 & xoy @ s g P

f(xy)==

T
(1) €M N (1, 2) (2) FEMA N (1, 1)
(3) &M N (0, 2) (4) gEHRIN (-1, 2)

32. Distribution of Hotelling T? is based on -
(1} Normal Distribution (2) t- distribution
(3) F - distribution (4) Chi - square distribution
BIefei T T2 &1 g2 frey X sl @ -
(1) wam e (2) t- &

(3) F- &g+ (4) 1S - @t e

18
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33. In the process of dividing a finite population into strata, the variability

of the total population is distributed over two types of variability ,

| one, between strata variability and, second, with in strata variability.

For a population divided into 5 strata, the following values were
obtained : '

Total Sum of Squares (TSS) = 125.70
Between Strata Sum of Squares (BSS) = 87.93 \
with in Strata Sum of Squares (WSS) = 37.77 : ' -

Then the difference between the variances, V (¥, ) under pfopoftional
allocation and V (¥_) under SRSWOR will be :

(1) 87.93 (2) 125.70

(3) 50.16 (4) 37.77

fepen difa gaie & Wl & T, dyol gafe 3 fwaar @ @
T g=e & Rrawarstt & ster wran, @, w3 B 7o fAwHar, aor

U, WY & 3T fawrar | Bpd aafe & o, ™Y 5 w3t 7 ater
T B, Freafataa gea o B

A W FHA AT (TSS) = 125.70

WA B Heg Gl H AT (BSS) = 87.93

R & SfATT eIt /I T (WSS) = 37.77

9 Aguieep dear Ry & oiaeta g8\, V (7,,) Tu1 SRSWOR &
ST 990, V (7,) & 9" SaX 8nn

(1) 87.93 (2) 125.70

(3) 50.16 (4) 37.77 .

19 ' P.T.O.
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34.

35.

If the cost function is of the form C= e +Zti&f where Co and ti are
known, then the variance of the estimator Y,,in stratified random

sampling for fined total cost is minimum if -

(1) ni a (pi® si?/ti)*? (2) ni o Ni si
(3) ni a Ni (4) ni a pi si?
AR AT B B JHR & C=C, + Y tivni T8t Coqen tisma T, o
faY ot irra & g wdiepa arsfees gftraas Rfy § omeas Y.
B T FAGH BRIl

(1) ni a (pi? si?/ti)2/3 (2} ni o Nisi

(3) ni-g Ni (4) ni o pi si?

In a survey of 32,000 people in a city, the proportion of people with
heart disease is estimated to be 5 in a thousand. For a fresh survey,
approximately how many persons may you need to find the proportion

in your sample within a 5% margin of error ?

(1) 14,070 (2) 20,000

(3) 5,000, - . (4) 29,090

20
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36.

fpel oY | 32,000 AfFadl & ues waeer #, gag A ¥ Gifw
ARl o ITIIT ST A 5 STrepfora fhar 141 @ep w9 gdeor §,
TN feha SafeRdt @t SIT9ehl STaYIEET ety afE omg ufdest #
STUT 5% T H WY T = ef ?

(1) 14,070 (2) 20,000

(3) 5,000 (4) 29,090

In a population, there are 600 males and 400 females. If one wishes

- to estimate the proportion of the females in the population on the

- basis of a sample of size 100 taken from the population with SRSWOR,

then the variance of the estimator will be equal to :-

(1000-100) x 0.6x 0.4 999 x 0.6x 0.4
999 % 100 - (2 T900x100

900 x 600 x 400 4y 500x400x100
100 #) 999

fereh wwfte ® 600 gow Tur 400 &Y ¥ | 9% #HiF §He § SRSWOR
Ry & g T 100 SR & Aftrest & omare o= et & v @

3T HIAT T8l & &l HIHAh & TGO & 919 8N ¢

(1000-100) x 0.6x0.4 999x% 0.6 x 0.4
(1) 999 x 100 (2) "900x100
900 x 600 x 400 1 600 x 400 x 100
100 ‘ (4) 999

21 P.T.O.
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M. 1TV, is the variance of sample mean is SRSWR and V, Ps the variance

of sample mean in SRSWOR, sample size n is cqual to 20 and ‘Vl =2

gien the population size N is -

Y SRSWR % fata At weq @1 9u@er v ¥ aur SRSWOR &

, \
AT AITaT ey B gEer v, R, afewet sk n 20 ® qer o2

& ol aufe $ s NS -
(1) 30 (2) 40 (3) 29 (4) 39

38. Let S be the convex set of all the feasible solutions of a lincar
programming problem. Let X, X, ¢ 3. Then for constants ), and ey s
the condition for X ¢ S, which one of the following conditions must
he satisfied ?

() X=2 X, i, X, such that I T Ak, >0
(2) X=X, +X,X,such that 3, =1 -2, Ash, 20
(3] Xo= 3,2 X +(1-1,9) X, for all 3, A, 20

(4) None of the above

HH s R S, Tt YRae dmmes anesr & ane gy wel @
ST wYEEE € oA A 5 X X oS dqa Redent A, TN, ®
o o X e 5 & oy Feifalae § @ dia-w o ggee e aifen ?
(1) X= % X, +1,X, 85 OB 6 3, - 4,=1, &,,4, >0

(2) X= 0 X +0,X, 80 9 f& 2, =1-2,, 4,,2,20

(3) X= a2 X +{1-0,2) X, @ &, 4, 0% forg

(4) IURT # T B 98
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39. An all Integer programming problem, when solued through Branch
and Bound technique, yielded the following solutions for different

nodes :

Problem A : x| = 15, x, = 2.5, Minimum z = 51.25
Problem B : X, = 16, X, = 2, Minimum z = 53
Problem C : x| = 14.66, x, = 3, Minimum z = 51.5

Problem D : x, = 14, x, = 4, Minimum z = 52
Problem E : x .= 15, X, = 3, Minimum z =525 .

- Which of the following nodes give the solution of the problem ?
(1) Problem B (2) Problem B and E both
(3) Problem D (4) Problem E and D both
T qAE SO ST ghe @ o §tg ug ards B 9 e
fFar a1 & RifteT s 8 sa Prefaieg 9@ ™ -
THETA : x, = 15, x, = 2.5, YATH z = 51.25
TFHRATB %, = 16, x, = 2, AT z = 53
g C @ x, = 14.66, X,=3, A Hz=51.5
D x, = 14, x, = 4, TgIqH z = 52
HHETE : x, = 15, x, = 3, g9 z = 52.5
TTH & -9 TS THE B Y aqA R ?

(1) 991 B (2) @& BUd E QA1
(3) §AET D (4) 99| DUd E QA
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40. Inan (M/M/1): (e /F1 FO} queuing model, if 3 and p are respectively
the mean arrival rate and mean service rate, then 3 /p (p-3) is:

. (1) average number of customers in the queue

(2) average number of customers in the system.
(3) average time of a customer in the queue.
(4) None of the above

afd @b (M/M/1) : (o /F1 FO) dfer b &, 4fd 3 dem p sAem
Hre uge &Y YT Aved {91 & el &Rr B &V o /u (u-p) B

(1) ufkr # ofrgar urewt @t e
(2) fareq & oftaa uesl N de
(3) frelt umew 1 df & ofraa &@wd
(4) SudEa ¥ 9 Hg A8t
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Short Answer Questions

g Sody g

Note : Attempt any five questions. Write answer in 150-200 words. Each

01.

03.

08S.

question carries 16 marks. Answer each question on separate page,
after writing Question Number.

il Oy melt & I AP 0@ w1 SR 150-200 st A
| 99 N9 16 3! T ¥ | He¥h 937 FH IR ST 5 GT
9T HEAr e g Y

Discuss in brief the different method of removing mutlicollinearity.

AT ¥ eSO B aare WXy B Rifv REt 5 s

Letx, X, ..., X, be a random sample from exponential distribution
with parameter g then find the minimum variance bound estimator
for g.

By an example show that maximum Likelihood estimators are not
unique.

Wﬂ%ﬁ@@ﬁwmwwﬁéﬁﬁi

Explain difference between time dependent poisson process and
weighted poisson process.

m%ﬁ%eamﬁﬁawéﬁgwnﬁvﬁ%maﬁmn

Comment on admissibility of Bayes estimator.

T HTHAF B ATHIAT IX frgof ¥

25 P.T.O.
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06.

07.

08.

09.

10.

If A follows a wishart distribution W,(n,7) and L is any non-null p x 1
I

LA .
vector, prove that BT follows chi- square y%p.

afy A fqsme dest wo(n,z) T STTEAT HIA S TAT L UF px 1 Y
e 2 A Rrs AT B 2 oo @ s o

The joint distribution of x and yisf{x,y)=xevfor 0<x <2 and y>0;

and zero else where. Derive the distribution of % + y.

HYFT §&T x T y @l f(x,y) =xe? for O<x <2 andy > 0; =0 3T=yerT
i x+y @& €29 sa A

Show that the minimum mean squared error of the estimator t = Ay,

is given by :

V n
min MSE (t) = Wg")')’_?"?
ﬁa@ﬁwmmﬁtmxynwwwaﬁg%%

V@,)

1+ V(y,)/Y?

Show that the set of all feasible solutions of a linear programming
problem constitutes a convex set.

Wﬁ%ﬁw?@m-mﬁﬁw%ﬁwwmﬁwwaﬁﬂ
SERIG N -

Disuiss in brief various techniques for computation of infant mertality
rate,

@agﬁﬂma&ﬁfﬁaﬁmﬁaﬁﬁﬁqﬁwaﬁﬁm
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Question No. Page for Short Answer
H¥  HEd g Iy % e gs
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Question No. Page for Short Answer

U HEAl ag I & fow gw
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Question No. Page for Short Answer
g den g S @ R g
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Question No. Page for Short Answer
e Hemr oy @iy & R g

30



RET/14/TEST-B 905/ Statistics

Question No. Page for Short Answer
T Heqr g SOl & Riw yw
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(3% gi@A®T & Nam Tavor g3 gy aer ue-oF & g yet oy
a1 Hietl- Fre ;reT-Erge 49 ° & ford)

5v3 g faee & 10 frae & aret d1 2 & Rk goaea | ot ye dtge @ o id
S37 521 A8 81 IR SR T ST O S A dehel d-Friers @ et wg
TR A gl g I R el
Gl e ¥ e Wew sdv-ux & sfafie, o A1 W w1 @en o Wiy
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T & &1 wal-wel smwvaw gt agt wyA-gfedwT @ A AaT 02 &1 AT I @y
v forgd
o WHo IMTo UF 4T AHWIH WEH, WyqliasT dewm & dz qewm (4 &Y §) aa
RYIYRETRT OY SgEATE St St wHo e U Tow &1 nfAEal ¥ aufivters &t sgEfy
T8 &1
gugr Afafeay & &3 o afiEdT ser e gro wofora glar anfed sy ag v Sl
T T XGHT AT A
xy3-gfeaar 7 nedw 9vT & 9 dwfeus guv 69 @ @) 9w 9y & defeva gav & fag
SIqFH! FAT-UF H GG gfFr & wmd 73 0d g &1 IJNT-u7 F 999 gy qv 73 08
fidor’ & s dv @ gy Fw #
eI A h I & (O had U 8 g9 & el U S ¥ 31yw g6l @ e w0
G HYH] Weh gd 1 YU} W U 98 I N HEA SR
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